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(1) #EULA
SHEE 9,960,000 9,830,000 9,867,000
BAZELEZMESE 2,840,000 2,700,000 2,885,000
1$-§HJJ%EEH¥$%§ 7,090,000 7,100,000 6,925,000
BA-BARESEZRAS 30,000 30,000 57,000
FERA 14,704,000 6,300,000 6,965,310
FEERITEENRA 1,200,000 1,000,000 971,010
EMFEESEEIA 1,800,000 1,800,000 1,479,082
FREESEIA 10,000 0 59,582
EfE4iE (LPM/HPL/JLMN) EZIZ A 11,694,000 1,000,000 1,363,676
EE£i% (SLPC) B £UNA 0 2,500,000 3,091,960
SHEBEE 2,890,000 0 920,000
SRS 2,890,000 0 920,000
S —ARE S 0 0 0
EEEKRMENMN OREEE 0 0 0
HUTA 1,000 3,000 777
ZHRFR 1,000 3,000 777
v aE 0 0 0
FEIAGT 27,555,000 16,133,000 17,753,087
(2) BEZH
EXxE 17,650,000 9,300,000 8,928,813
FRERTEXE 2,500,000 2,500,000 2,367,424
EMEEREEE 3,500,000 3,800,000 3,694,237
EfE<iE (LPM/HPL/JLMN) £ £ & 11,650,000 500,000 720,511
EE4E(SLPO)E X% 0 2,500,000 2,146,641
MRBEEXE 0 0 0
TOhEBXE 0 0 0
EIRE 10,540,000 10,550,000 10,169,430
WE5EFY 6,700,000 6,700,000 6,749,267
ha%IJJ_ H£%5 850,000 770,000 848,499
=& 150,000 200,000 148,711
REXEE 400,000 400,000 416,060
BIEERE 200,000 200,000 176,509
E8H 60,000 0 58,470
BER, KEHE 40,000 0 34,981
EEiE 100,000 100,000 0
EHRARE 200,000 40,000 40,835
HERE 400,000 550,000 303,047
EBETRE 570,000 570,000 507,600
R—LR—CERE 300,000 250,000 309,924
J—= 120,000 200,000 199,080
X FHEHE 100,000 140,000 26,480
BRERE 180,000 180,000 177,884
FARAER 70,000 150,000 140,900
M 100,000 100,000 31,183
BEIHE 28,190,000 19,850,000 19,098,243
L EARR R RAE A 635000 A 3,717,000 A 1,345,156
2 BENMEBOE
(1) BENRAEE 0 0 0
(2) BENZHEH 0 0 0
L HA IR S 1SR AR 0 0 0
L HA— AR IE KB EEHE R AE A 635000 A 3717000 A 1,345156
— R IERRBAEEHAE RS 26,566,789 27,911,945 27,911,945
— R IEBREAEE IR IE S 25,931,789 24,194,945 26,566,789
I fEEIEREBOL
L HATEE IERREL EE S RAE 0 0 0
EEEKMEHEES 0 0 0
B ERIAEEIRES 0 0 0
I EBREMEHRES 25,931,789 24,194,945 26,566,789
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BAEE2784 % 10,000=2,780,000, £ E124 x 5,000=60,000

x4 ') 411821t X 50,000=4,100,000, F{A& S

B4 513%t x 50,000=650,000

)24 1)39%t x 60,000=2,340,000,




